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 Topic:-  Latin names, Atomic Mass of an element. 

 Latin names of elements:- 

In chemistry we use the English names of the elements, so we are not familiar with 

the Latin names of the elements. Most of the confusion, arises in the symbols 

derived from the Latin names of the elements. Note the following symbols carefully 

and try to remember them correctly, they have been derived from the Latin names 

of the elements. 

 

 ATOMIC MASS OF AN ELEMENT:- 

Actual masses of the atoms of the elements are very, very small.                                   

Example:- one atom of hydrogen(H) has a mass of 1.673 × 10–24 gram or 

0.000000000000000000000001673 gram. It is not convenient to use such small and 

complicated figures in our calculation; therefore, it was necessary to define atomic 

masses in such a way that we get simple figures for them. In order to understand the 

present definition of atomic mass, we should first know the meaning of carbon-12 

atom (read as carbon twelve atom) is that atom of carbon which has 6 protons and 6 

neutrons in its nucleus so that its mass number is 12. 



 

 Carbon-12 atom has been assigned an atomic mass of exactly 12 atomic mass units 

was earlier written in short as ‘amu’ but these days atomic mass unit is denoted by 

the letter ‘u’). This means that a carbon-12 atom has been assigned an atomic mass 

of exactly 12 u. Now, since a carbon-12 atom has been assigned an atomic mass of 

12 atomic mass units, therefore, the atomic mass unit should be equal to   1 
                                                                                                                                      12 

(one-twelfth) the mass of a carbon-12 atom. That is : 

 Atomic mass unit =     1    the mass of a carbon-12 atom 
                                        12 

   or  1 u =   1    the mass of a carbon-12 atom. 
                   12 

 The atomic mass of an element is the relative mass of its atom as compared with the 

mass of a carbon-12 atom taken as 12 units. The atomic mass of an element 

indicates the number of times one atom of the element is heavier than 1 of a  
                                                                                                                                  12 

carbon-12 atom. Example, the atomic mass of magnesium is 24 u which indicates 

that one atom of magnesium is 24 times heavier than  1 of a carbon-12 atom.  
                                                                                                    12 

 
                                       

 Home Work (Based on study material of 31-05-20) 

Answer the following questions:- 

1. What is symbol of elements? 

2. What is Dalton’s symbol of elements? 

3. Explain Modern symbol of elements with an example? 

4. Write the symbol of following elements? 

(i) Helium  (ii) Neon  (iii) Zinc   (iv)  Manganese  (v) Chlorine  (vi) Lithium 


